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(©) Justify the selection of  truss for the sircture of the walkuey. 3
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A simplified diagram of a pin jointed truss of a hammerhead crane is shown. It is
liftng  load of 54 KN,
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& ) Calculate the reactions at supports A and B. 4

O +DZ4g=0
—RAXI $27 %2454y 5 -TSH]

RA = +§4+270-75§
= z4qkn t
tgFv = o
@+ ~54-75+249+RBYV
RBY ~/2oku
@ #=2f 2 0 ypay
RBH = 2764 >
® gy < fom o
<123 kN
Tand = 22
TZo
(206N RB =2 N
Reacion A = ... 247 wake

27kN Reaction at B = ... 23 .m,‘.}\\( 12:7°




image5.png
‘Small steel bridges are often constructed using a Warren truss. The truss
may be above or below the roadway. It is necessary fo calculate the
intermal forces n ail members for diffecent loadings so that the engineer
can use the correct cross-scctional area to carry these siresses.

Using the mathematical method of sections, determine the magnitude
(size) and nature (easion or comression) of the force in members CE
and DE.

“The truss is loaded, a5 shown i figure 2.57.
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Determine the maguitude and nature of the force in member M.
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A simplified diagram of & pin jointed truss of a hammerhead crane is shown. Tt is
liftng  load of 54 KN,
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‘What are redundan truss members?

A redundant member is a member in a russ that carries 1o load under current
conditions. (satic designed external loading) The load inthe truss member may vary
under different loed conditions, which means it may not necessarily become
redundant, Designed redundant members may experience loading during uaexpeeted.
deformation of the structuce, They may also be used for aesthetic reasons.
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“The force F¥is moved from joint ¥ (0 joint X, s shown.
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‘Which row of the table comectly describes the changes in the intemmal force in member XY
and the reaction force at W s a result of force F moving from W 1o X?

Internal force in Reaction
member XY forceat W

A | Decreases Decreases
® [mcreases Increases
c
D,

Tncreases Decreases.

Decreases Increases
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